ISQS 4350 Project Management

Practice Exam II


This exam consists of multiple choice and discussion problems.   The discussion problems are worth 30% of the exam grade.  The multiple-choice part is worth 70% of the exam grade.  For the multiple-choice part, record your answers on the orange answer sheet provided.  Each multiple choice question is worth one point.

1.  Cost is a resource 

a.  that is usually reported on project incrementally rather than cumulatively.

b.  to balance against schedule and scope.

c.  best shown by the project schedule.

d.  none of the above.

2.  A key tool for controlling project costs is ___________. 

a.  Earned value analysis

b.   Network diagram

c.   JAD

d.   CPM

3.  A big picture view of the cost of a project over its entire existence is ___________. 

a.  WBS

b.   Life cycle costing

c.   Networking view

d.   JAD costing

4.  In the project life cycle, it is usually more cost-effective to spend money___________. 

a.  late

b.  early

c.  in the middle

d.  in keeping with a summary baseline

5.  Cost or benefits that are easily measured in dollars are called __________. 

a.  tangible

b.   intangible

c.   baselined

d.   time-adjusted

6.  Money that has been spent in the past is known as a(n) ___________. 

a.  constrained cost

b.   indirect cost

c.   sunk cost

d.   direct cost

7.  When a project's processes and products meet written specifications, we say there is a 

a.  critical path with no variance.

b.   conformance to requirements.

c.   conformance to standards.

d. fitness of use.

8.  When a product can be used as intended, we say it 

a.  adheres to the life cycle.

b.   conforms to requirements.

c.   conforms to standards.

d.   has a fitness for use.

9.  Deming is known for 

a.  his work with the PMI.

b.   his work with the German auto industry for process improvement.

c.   establishing the systems development life cycle.

d.   the Cycle for Improvement -- plan, do, check, and act.

10.  Deming had 14 points for management that included which of the following? 

a.  Drive out fear and break down barriers between staff members.

b.   Create an atmosphere of competition, and make sure you inspect for quality.

c.   Make sure you inspect for quality, and work with multiple suppliers to drive down costs.

d.   Establishing a project for quality improvement with a clear end date.

11.  Human resource management includes 

a.  sponsors and customers.

b.  project team members and support staff.

c.   vendors supporting the project.

d.   all of the above.

12.  Building individual and group skills is a part of 

a.  assigning resources.

b.   team development.

c.   organizational planning.

d.   resource leveling.

13.  Which of the following is a motivation theory developed by Abraham Maslow? 

a.  Hierarchy of needs.

b.  Motivational factors.

c.  Psychosocial theory.

d.  Self-realization.

14.  Behavioral psychologists see people as 

a.  self motivated.

b.  controlled by their environment.

c.  motivated by others.

d.  dependent upon heredity.

15.  The highest need in Maslow's theory is 

a.  psychosocial.

b.  physiological.

c.  self-actualization.

d.  behavioral.

16.  The bottom four needs in Maslow's theory are referred to as 

a. elementary needs.

b.  deficiency needs.

c.  sensory needs.

d.  base needs.

17.  A master list of all acronyms and definitions is found in the _______________ section of the communications management plan. 

a.  NPV analysis

b.  information collection and filing structure

c.  information distribution

d.  format for communicating key project information

18. The communications management plan is ____.

a.  often represented by a bar chart or Gantt chart.

b.  a document that guides project communications.

c.  targeted for members of the product development team.

d.  best designed after an initial implementation milestone.

19. Which part of the communications management plan outlines who receives status reports? 

a. Distribution.

b.  Filing.

c.  NPV.

d.  Collection.

20.  What is a good starting point for identifying internal stakeholders? 

a.  The resource histogram.

b.  The WBS.

c.  The project's organizational chart.

d.  None of the above.

21. How can accessing standard forms be made easier? 

a.  Providing an index within the critical path.

b.  Covering forms possibility usage in the initial analysis.

c.  Storing templates and samples of project documents electronically.

d.  Creating new forms for each project.

22. Project risk management should be done 

a.  before the kickoff meeting.

b.  throughout the life of the project.

c.  at the final phase initiation.

d.  during the close-out of the project.

23. Risk management can 

a.  have a positive impact on selecting projects.

b.  help determine the scope of projects.

c.  assist in developing realistic schedules and cost estimates.

d.  All of the above

24. The investment in risk management associated with a  project should depend upon 

a. the degree of confidence expressed in a WBS.

b.  who is leading the project.

c.  the nature of the project and the experience of the project team.

d.  the critical path.

25. Tolerance for risk 

a. may be different for individuals and organizations.

b.  should be discouraged.

c.  should be the same across projects.

d.  may be reduced through a more detailed WBS.

26. Risk aversion 

a. should be avoided.

b.  is an avoidance activity.

c.  is when someone has a lower tolerance for risk.

d.  all of the above.

27.  Tools of risk identification include the 

a. Monte Carlo analysis and NPV.

b. critical path and the Monte Carlo analysis.

c. stakeholder analysis and the critical path.

d. checklists and flowcharts.

28. Risk quantification 

a.  is usually impossible.

b.  is most appropriate at the final stages of a project as a lessons learned issue.

c.  involves expected monetary values and PERT calculations.

d.  should be performed by the key stakeholder.

29. The goal of risk management is to 

a.  maximize potential risks while minimizing potential payoffs.

b.  minimize potential risks while maximizing potential opportunities.

c.  reduce risk under all circumstances.

d.  share risk with other projects.

30. Many organizations are turning to outsourcing in order to 

a. increase accountability.

b.  reduce both fixed and recurrent costs.

c.  access skills and technology.

d.  all of the above.

31. Outsourcing can allow the client organization to 

a. increase skills in the procurement phase.

b.  increase head count

c.  focus on core competencies.

d.  reduce concerns over contracting.

32. Procurement planning involves 

a.  determining what to procure and when.

b.  advertising for procurement.

c.  soliciting bids.

d.  evaluating vendors.

33. Managing the relationship with the vendor is usually a part of what procurement process? 

a.  Contract administration

b.  RFP

c.  Contract close-out

d.  None of the above

34. At the end of solicitation planning, a key milestone is often the issuance of a(n) _________. 

a. WBS

b.  contract

c.  RFP

d.  make-or-buy decision

35. Formal acceptance should occur 

a.  when an RFP is issued.

b.  at the end of solicitation planning.

c.  at the completion of contract close-out.

d.  before procurement planning.

36. The organization's strategic plan 

a.  has little to do with the kind of projects that actually should be approved.

b.  provides the basis for information technology project planning.

c.  should contain a section on how projects get initiated.

d.  should include recommendations by team member of IT  projects.

37.  What could serve as a foundation for choosing which projects to initiate? 

a.  The WBS

b.  NPV

c.  Strategic planning

d. all of the above

38. Preparation of a feasibility study 

a.  should be a part of project initiation.

b.  should not be included in project initiation.

c.  has little effect on managing projects.

d.  should be accomplished before strategic planning

39. The outcome of project initiation includes 

a.  project charter.

b.  selecting of a project manager.

c.  documentation of key project constraints and assumptions.

d.  all of the above

40. Plans must be 

a.  realistic and useful.

b.  focused on deliverables.

c.  broad in nature.

d.  easily communicated.

41. Project time management includes 

a. activity definition.

d.  activity sequencing.

c.  duration estimating.

d.  all of the above.

42. Solicitation planning is a part of 

a.  risk assessment.

b.  human resource planning.

c.  project procurement planning.

d.  project communications management.

43. Developing an overall project plan is a part of project 

a. communication management.

b.  total quality.

c.  integration.

d.  risk assessment.

44. The main purpose of a project plan is to 

a. acquire resources

b.  guide project execution.

c.  meet standards expectations.

d.  reduce risk.

45. The WBS is an output of what knowledge area? 

a.  Integration

b.  Scope

c.  Cost

d.  Quality

46. Activity definition is a part of what knowledge area? 

a.  Integration

b.  Time

c.  Cost

d.  Quality

47. Organizational planning is a part of which knowledge area? 

a.  Integration

b.  Scope

c.  Human Resources

d.  Procurement

48. During project execution 

a.  project goals and scope are highlighted.

b.  the products of the project are produced.

c.  overall key stakeholder analysis is provided.

d.  the WBS is scheduled.

49. During project execution, the quality of products should 

a.  not be considered.

b.  remain constantly in focus.

c.  become a part of every key stakeholder report.

d.  none of the above.

50.  Project execution involves taking actions to 

a.  establish a good plan.

b.  close out the project.

c.  ensure that activities in the project plan are completed.

d.  provide feedback to key vendors.

51.  Project execution should target 

a.  vendors.

b.  planners.

c.  RFPs.

d.  none of the above.

52.  The most important output of project execution is 

a.  change requests.

b.  work products.

c.  stakeholder analysis.

d.  the WBS.

Questions 53 through 68 relate to Goldratt’s book Critical Chain.

53.In the book Critical Chain Goldratt suggests that project team members and managers put too much _____ into the estimated durations of the tasks they are asked to complete.

a. effort

b. planning

c. control

d. safety

e. resources

54. In the classroom discussions of failed projects, there was a tendency _____.

a. to place blame outside the organization

b. to place blame on the organization itself

c. neither of these

55. What is the name of the principal role player?

a. Alex Rojo

b. Richard Silver

c. Bill Crutchfield

d. Jonah

e. Johnny Fisher

56.  Measurements should _____.

a. always be accurate to six sigma levels

b. measure cost, productivity and schedule variances

c. induce the parts to do what is good for the system as a whole

d. all of the above

e. a and b only

57. Which one of the following is not one of the five steps that make up the Theory of Constraints?

a. IDENTIFY the project constraint

b. Decide how to EXTRAPOLATE that constraint

c. SUBORDINATE everything to that decision

d. ELEVATE the system’s constraint

e. Go back to step a

58. Goldratt believes that conflicts are usually based on _____.

a. unclear assignment of responsibilities and roles

b. faulty assumptions

c. personality clashes

d. all of the above

e. a and c only

59. To resolve conflicts, Goldratt uses a device called _______.

a. a current reality tree

b. an evaporating cloud

c. a future reality tree

d. a prerequisite tree

e. a transition tree

60. To answer the question WHAT TO CHANGE, Goldratt uses which construct listed in question 59 above.

61. To answer the question WHAT TO CHANGE TO, Goldratt uses which construct listed in question 59 above.

62. To validate an injection Goldratt uses which construct listed in question 59 above.

63. To answer the question HOW TO CAUSE THE CHANGE, Goldratt uses which constructs listed in question 59 above.

a. A and B only

b. B and C only

c. C and D only

d. D and E only

e. A and C only

64. Which construct in question 59 above is used to provide a step-by-step sequence of actions to be taken?

65. To retain focus on the part of the project manager, Goldratt recommends

a. placing a time buffer at the point where non-critical paths intersect with the critical path

b. having the project leader do all of the team-related technology management

c. that the project manager not work on more than two projects at the same time

d. all of the above

e. a and c only

66. Such measures as BCWP, BCWS, ACWP Goldratt is ______.

a. in favor of

b. strongly in favor of

c. neutral toward

d. strongly opposed to

67. Procrastination is referred to as the _____.

a. worst enemy of all projects

b. student syndrome

c. earliest start strategy

d. all of the above

68. If you have a task on the critical path and your time to complete your task has arrived, then Goldratt recommends _____.

a. that you drop everything else and work just on your task until it is complete

b. that you make completion of the task a high priority

c. that you acquire additional resources

d. that you assess whether you can actually do the task by its due date

69.  An activity has probabilistic completion times of 18, 22 and 32.  What is its mean time?

a. 16

b. 24

c. 22

d. 23

    e.    None of these

70.  For the activity described above with probabilistic completion times of 18, 22 and 32, what is the variance of the completion time?

a. 5.44

b. 6.78

c. 4.33

d. 9.32

e. none of these

71. Any technique that uses only one time estimate is considered to be a ______________ technique.

     a.  Deterministic

     b.  Stochastic

     c.  Probabilistic

     d.  Random

72. Determining the earned value involves collecting data on the percent complete for each work package and then converting this percentage to a dollar amount by multiplying the _________________ of the work package by the percent complete.

     a.  total budgeted cost

     b.  cumulative budgeted cost

     c.  total cumulative fees

     d.  contract cumulating amount

73. The cumulative earned value for each work package is calculated by multiplying each percent complete by the ________________ for the work package.

     a.  total budgeted cost

     b.  cumulative budgeted cost

     c.  total cumulative fees

     d.  contract cumulating amount

74. _________________ is the difference between the cumulative earned value of the work performed and the cumulative actual cost.  It is also the difference between BCWP (=earned value) and ACWP (Actual cost of Work Performed).

     a.  Cost performance index

     b.  Cost variance

     c.  Budgeted costs

     d.  Cost quality index

75.   A work package is 70% done and $200,000 was budgeted for it.  What is its BCWP?

a. $140,000

b. $80,000

c. simply the value earned

d. all of the above

e. a and c only

76.  BCWS stands for ______.

a. Budgeted Cost of Work Studied

b. Budget Cumulative of Working Students

c. Budgeted Cost of Work Scheduled

d. None of the above

77.  If the work package in 75 above has an ACWP of $100,000 then ______.

a. cost variance is $20,000

b. cost variance is -$20,000

c. the work package is over budget

d. none of the above

e. b and c only

78.  At this point in time the work package in 75 above should be 80% complete.  Then ____.

a. schedule variance is $10,000

b. the work package is behind schedule

c. the work package is ahead of schedule

d. a and c above

e. none of the above

79.  Which of the following is not one of the stages of the CMM?

a. INITIAL

b. DEFINED

c. REPEATABLE

d. MEASURED

e. OPTIMIZING

80.  How long does it take to go from one stage of the CMM to the next?

a. one year at least

b. six months at least

c. two  years at least

d. one quarter year at least

e. none of these

81. The ________ organization structure allows for fast response upon problem identification because it has both a horizontal (project) and a vertical (functional) path for the flow of information.

     a.  matrix

     b.  mixed

     c.  functional

     d.  progressive

DISCUSSION PROBLEMS (30 pts)

1.  (5)     Briefly describe five information technology project types.

2.

                                   MINIMUM 

PRECEDENT

CRASH

ACT.  DURATION     DUR            
ACTIVITY

COST/DAY

A
3

2


-

$400

B
5

5


A

$200

C
3

2


A

$200

D
11

8


B

$300

E
 7

5


B, C

$100

F
 4

3


C

$400

G
 9

7


D,E,F

$100

(8)     Crash the PERT chart above assuming you have $1500 to spend and that activities cannot be shorter than their minimum durations.  Note that activity A can only be crashed 1 day, while activity B can not be crashed at all.  Try to achieve the greatest reduction in project duration for the least amount spent.

3.  (4) Which of the following projects would you prefer to be a project manager of?  Only two outcomes are possible in conjunction with these projects:  success and failure.  Project A has a success probability of .8 with payoffs of $1,000,000 if a success and $-700,000 if a failure.   Project B has a success probability of .7 and payoffs of $800,000 and $-300,000.  Hint:  What is the expected payoff of each project?  If the success probability is .8, the failure probability must be???

5.  (5)  Which of the following job offers would you choose?  Construct a multi-attribute tree for the problem and compute an overall grade for each job.

JOB1 has a grade of .9 for location, a grade of .6 for salary, .7 for advancement, .7 for training, .6 for work content, .7 for corporate culture, .8 for peers.  

JOB2 has a grade of .7 for location, a grade of .9 for salary, .8 for advancement, .7 for training, .8 for work content, .8 for corporate culture, and .6 for peers.  

The weights you’ve assigned to each attribute are .2 for location, .2 for salary, .1 for advancement, .1 for training, .2 for work content, .1 for corporate culture, .1 for peers.

Formulas:

CV = BCWP – ACWP

SV = BCWP – BCWS

CI = BCWP/ACWP

SI = BCWP/BCWS

Mean = (a + 4b + c)/6, where a is the optimistic time, b is the most likely time and c is the pessimistic time

Variance = (c-a)2/36




____Multiple Choice ________________________





Discussion Questions _______________________





Total         ________________________________





Adjusted Total  ____________________________





Name_________________________








ISQS 4350, April 18, 2008, EXAM II, CLOSED BOOK, CLOSED NOTES – page  7

